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s= k|yd rf}dfl;s cfof]hgfx?

!=	 sfv]n l8leg8fF8f uf]N5fk|f vs{ x'b} ;/:jtL k|f=lj= ;Dd hf]8g] df]6/af6f] dd{t tyf 
:t/pGglt ?=3,00,000÷–

@=	 Rofg8fF8f cGt/]8fF8f, cdnaf]6, l;d9'Ëf vf]nf ;Dd df]6/af6f] dd{t tyf 
:t/pGgtLsf] nflu ?=1,50,000÷–

#=	 sf]lzjg 8f]n Rofg8fF8f df]6/af6f] dd{t tyf :t/ pGgtLsf] nflu ?=50,000÷–

$=	 yln ljld/] df]6/af6f] df]6/af6f] dd{t tyf :t/ pGgtLsf] nflu ?=50,000÷–

%=	 st'jg e~hofª b]lv ljld/] rf}/ df]6/af6f] dd{tsf] nflu ?=50,000÷–

^=	 7'nf] k}/f] b]lv l8D8'ª x'b} ljld/] df]6/af6f] dd{t :t/pGgtL ?=50,000÷–

&=	 a'v]n kfnfHo' lrpnL8fF8f e~hofª ;Dd df]6/af6f] dd{t tyf :t/ pGgtLsf] nflu 
?=1,20,000÷–

*=	 l8leg8fF8f nK;Laf]6 x'Fb} vfjf e~hofª ;Dd df]6/af6f] dd{tsf] nflu ?=50,000÷–

(=	 jf]Nb]8fF8f b]lv l;d9'Ëf vf]nf ;Dd hf]8g] df]6/af6f] dd{t ?=50,000÷–

!)=	l8leg8fF8f dfemufpF b]lv u0f]zsf] 3/ ;Dd df]6/af6f] dd{tsf] nflu ?=50,000÷–

!!=	lrpnL8fF8f e~hofª b]lv lrpnL8fF8f ufpF;Dd df]6/af6f] dd{t ?=40,000÷–

!@=	sf]lzjg 8f]n b]lv em08gf/fo0fsf] v]t ;Ddsf] l;+rfO{ ug{ ?=1,50,000÷–

!#=	/fwfs[i0f dlGb/ dd{t ug{ ?=20,000÷–

!$=	dgsfdgf dlGb/ / kf6L dd{t ug{ ?=50,000÷–

!%=	sfnLb]jL dlGb/ dd{t cf]v/af]6 ?=20,000÷–

!^=	dxfFsfn yfg dlGb/ dd{t l;l/;sf]jf]6 ?=20,000÷–

!&=	tfdfª ;+:s[t emNsg] sfo{qmd ;+rfng ?=25,000÷–

!*=	xf]d k|;fb l3ld/]sf] 3/ b]lv ;'j}l;ª g];'/sf] 3/ ;Dd uf]/]6f] jf6f] lgdf{0f 
?=40,000÷–

!(=	uf]N5fk|f b]lv ;f]lny'd hfg] uf]/]6f] af6f] lgdf{0f ug{ ?=40,000÷–

@)=	plgprf}/ s]kn8fF8f df]6/af6f] dd{t tyf :t/ pGgtLsf] nflu ?=40,000÷–

@!=	lth ljif]z sfo{qmd ;+rfng ug{ ?=50,000÷–
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s= bf];|f] rf}dfl;s cfof]hgfx?

!=	 lrpnL 8fF8f e~hofª af6 6f]8s] 5'b}F rd]/f] u'kmf ;Dd df]6/af6f] lgdf{0fsf] nflu 
?=10,00,000÷–

@=	 an axfb'/ ef]Dhgsf] 3/ b]lv nfld8fF8f, ;f]lny'd,5'6} vfjf e~hofª ;Dd hf]8g] 

dxf°fn ufp“kflnsf ! g+=j8f sfof{no, a'v]nsf] sfo{qmd tyf  
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df]6/af6f] lgdf{0f ug{ ?=5,00,000÷–

#=	 l;d9'Ëf vf]nf b]lv 5fks vf]nf ;Dd hf]8g] df]6/af6f] lgdf{0fsf] nflu 
?=3,00,000÷–

$=	 kmQ]kf]v/L b]lv ljld/] u'? lg=df=lj= ;Dd hf]8g] df]6/af6f] lgdf{0fsf] nflu ?= 
3,00,000÷–

%=	 a'v]n ;dG8f]n /ftf uf]7 ;Dd hf]8g] df]6/af6f] lgdf{0f ug{sf] nflu ?=3,00,000÷–

^=	 s]/fpjf/L cy{'ªu] hf]8g] df]6/af6f] lgdf{0f ug{ ?=2,00,000÷–

&=	 l;d9'Ëf vf]nf b]lv vn8fF8f ;Dd df]6/af6f] lgdf{0f ?=2,00,000÷–

	 bf];|f] rf}dfl;s cfof]hgf ah]6 hDdfM– @*,)),)))÷–

s= t];|f] rf}dfl;s cfof]hgfx?

!=	 ^ j6f ljBfnox? sfnLb]jL df=lj=, u'? lg=df=lj=, jfnd's'Gb lg=df=lj=, lktf k|f=lj=, 
>L 6+u'g k|f=lj= / ;/:jtL k|f=ljnfO{ ?=3,00,000÷–

@=	 jfnkf]if0f sfo{qmd ;+rfng ug{ ?=1,00,000÷–

#=	 o'jf tyf v]ns'sf] nflu ?=1,00,000÷–

$=	 vfg]kfgLsf] kfOk tyf 6oflÍ lgdf{0f tyf dd{tsf] nflu ?=4,00,000÷–

%=	 dlxnfx?sf] nflu sfg'g k/fd{z tyf cled'lvs/0f sfo{qmd ;+rfng ug{ 
?=1,00,000÷–

^=	 kz' ;]jf sfo{qmd ;+rfng ug{ ?=1,00,000÷–

&=	 Ps 3/ Ps 6g]n sfo{qmd ;+rfng ug{ ?=1,00,000÷–

*=	 j8f cjnf]sg e|d0fsf] nflu ?= 1,50,000÷–

(=	 Doflrª kmG8 ?=3,00,000÷– -cGoq jlu{s[t gePsf]_

!)=	ljljw ?= 1,35,000÷– -cGoq jlu{s[t gePsf]_

	 t];|f] rf}dfl;s cfof]hgf ah]6 hDdfM– ?= !&,&%,)))÷–


